BEHT 05

e

—HWEEED
ENZHOWNWT

5

&M OVE BT % 5Bl O —# & BE 3 % 21l O il

—HhEFEED

RE N OEEICET O R/KEO -2 ETOREAZKRD EBYE
DD,

Rk 2 941 1 H29 RN

—HHE &R W

i



—HRAE S

[1]

H = O

5

B K OVE BRICBE 9 2 Bl 0 —# 2 W IE 3 % 54

“HiTEEEORENK OCEHICET L5860 (CFRR9FE ZHHREIH 3 2%5) O—
RO L D ITWIET %,
MIERE 1 ZRO L DIZWD D,

MERFE 1 (F 35K, #1565 5KER)
| =& AR fr & W&k | P | B | R E | RS ER | S R AR
& | B mE | AR | K DEED
() | #& & (M)
A HEFD 38 | K4 | = H T OR |EE | 14 | 32.40 | 0.88 | 0.1142 12,900
& | AR S t
(2
T
SRk 7 R | S B TR | 3 M| 18 | 67.50 | 0.96 | 0.8498 82, 100
J& | B 2] T t
M| SRk 7 |k | =@ HR| 3P| 66520 0.96] 0.8208 79, 800
K| AR ] oy t
BRIE R 8 M| MW |5 B 25 (69.40 | 1.00 | 0.9217 88, 300
B | AR EH | N E— T |&
* 2 H
E| R 10|08 | = W A | 5 B | 30 | 69.30 | 1.00 | 0.9337 95, 600
FJE 15| 1W=TH |#&
B
Wepk 12 | 76 10 | = M W P | 5 B | 30 | 69.30 | 1.00 | 0.9416 71, 600
F 2 5 |IL=TH
B
R 12| PE [ | = B AT | 5 | 10 | 68.90 | 1.00 | 0.9363 71, 300
R 2 5 |IL=TH




B
YRk 12 ([ PE | = H P | 5 B | 15 | 53.60 | 1.00 | 0. 7283 58, 700
L 2 5| IL—=TH |#
R
Yok 12 (P L = E P | 5 B | 10 | 45.20 | 1.00 | 0.6141 51, 800
FJE 2 5| TH |
B
YRR 13| PE | = W oA P | 3 B | 12 | 67.20 | 1.00 | 0.9169 103, 300
FJE 35| IW-TH |&
B
YRk 13 [ PE | = H e | 3 B | 3| 45.20 | 1.00| 0.6167 77, 900
R 35| IL-TH |#
R
MRk 15| P | = E TP | 9 BE | 43 | 70.50 | 1.00 | 0.9700 88, 700
J& | AR EE |- TH |
YRk 16 (P | = H P | 9B | 9| 70.10 | 1.00 | 0.9645 88, 200
F g mE W TH | &
YRk 15 (P | = H TP | 9 BE| 16 | 54.30 | 1.00 | 0. 7471 72, 700
| AR EE L THE |
YRk 16 (P | = H P | 9B | 2 |67.70 | 1.00| 0.9315 86, 100
F g mE W TH | &
Wpk 18| M A3 | = H Wi | 7 M| 40 | 70.50 | 1.00 | 0.9821 88, 800
R . 2N — T
H
Wpk 18 |BE A | = H i | 7B 7]70.00| 1.00 | 0.9751 88, 300
R I n k- T
H
Wepk 18 |\ BE S| = H i | 7B 7 [54.30 | 1.00 | 0.7563 72, 800
R I N — T
H




YRk 18| AN | = W B | 7 BE| 14 | 44.40 | 1.00| 0.6184 63, 000
R T nE— T

H
Wpk 18|\ BEA | = H i | 7B | 2(67.50] 1.00 | 0.9403 86, 000
G r N R T

H
£+ HI

ZOERENE. EK3 0F 4 H 1 HOHEITT b,




